
  

  �

  ������ 	� 
�  �
  ��  �  

  ����	 – )  ���� ����–
���   ��– �������   �!"� (  $
  $
  

  ���%

�  �  

* �&� '�(� )��� *�+�� '� ,-�.�&�.  
  

� .�� � ���	
� �
��  s 	 ��� ���
�.��  �� ����
�� �
�� ��   �	���	1R � 2R ��� �����	� ��  ! "�#�  

  

$�� .50 /  �1  %.
3

2
�  1    

  

&.50 / � �'(  � .�'( � 1  
  

  

) .*��+�,�- �� ��FC µ1=�  .�*�/ ��� �01�2*���JU 500 /=  �	���	 3�� ��  Ω×= 6
101R ��	 ��� � �41. 

5�6�7 �8� 9��1��,�� 
�� ��  �	���	R 	 �� ��� �#� ��	�"  

  $�� .1  %.2  &.310
−  �.3102

−×  
  

;.��  � ���	
�� �
�� ��  �	���	 12 <7���#� ��	� ��  "  
  

  $�� .3  %.51/    

  

  &.50 /  �.1  

  

= . >?�	
��@�� �� >��	 AB1 �� �*�#� Cmmmm 5050 // × � �	���	 10�
  �# �� �� D*�0� EF0+� ���AV5  A(�

�#�
��6� �G* �� �,��6  ��� 
�� ��  �� �� ��	� �� 0*�#��0< �#� >��	.  
  
  

  $��.100  %.200  &.50  �.25  
  

H .�� � ���	
��� �  ���+1C��  Cµ�#� "  
  

  $��.300   %.120    
  

  &.450  �.150  

  

I .�� ���	 �
�
 ��0�� ���?�* �� �a	 A(�  � �41 ���+ �� 1C  ���J ���
 K�#���� ��  �?�*a� �01����  ��b A(� 

	� ���
.���   �
�L* ���+2C  ��    Cµ �#�"  
  

  $�� .90  %.40    
  

  &.60  �.120 

 
FC µ123 =

V12 0=r,



  

  �

   
��� 	�����  �
  ��  �  

   	����– )  ���� ����–
���   ��– �������   �!"� (  $
  $
  

  ���%

�  �  
  

M . �� ����� $��8	 /�7��� �� ������ /��4	 /�*�#� N�O'( P�(�,cm2N�O'(  Q�� .�0�� � 20�#� ���  .     /.�*� ���6 

�� N�O'( Q�� /�R, �� �B
�0B���0D�# SI�� �#������ :  
  

  $��.0
4
10 ε   %. 0

5
10 ε  &. 0

4
105 ε×  �. 0

5
105 ε×  

  

T.��   AB1 �
���� 5�U ��
/ ��� ����� q � ����L�
�?�* �� �A���   "�#�  
  

  $�� .
d

qQ
k2  %. 

d

qQ
k2    

  

  &. 
d

qQ
k

2

2
  �. 

d

qQ
k  

  

V .O'( ��P W�,/�7  
���D	 �� C2
1 m A���	 
�B
�6 �*��� ���X.�(�, P �
N�O'( Q cm5� �#�  �7��� A	��/��D	 / 

�  $��8	�� �+�� Y4?#���0D7 .	 �J� ��0B�� ���
B�� �N�O'( Q
C

N
55�� ��� �1�� /�4
 ��  �O'( �7 Q"�#�   

  

  $�� .0110 ε  %. 0527 ε/  &. 055ε  �. 025ε  
  

�Z .��  AB1�
���0[J � *���/2?X �� �� ���� �@\� �� ���  3�1 3��� ��[* �mN.�#�  .�7 3���*� ���Cµ3  �

 ��(�, �� ���cm2, �#�.  
  

  $��. 4102
−×   %. 4104

−×    
  

  &. 4103
−×  �.3103

−×  

  

�� .�� � AB1
*4���� ��O'( �� P�� �
	 �7� Q� �41.O'( �� �4���� ��4+�� �]�# PU�� 
��#� ���  ") �� *���/      

J[*����G�,�(  	� �41(  

  $�� .d
m

eE
2  %.d

m

eE
2      

  

  &.d
m

eE
  �.d

m

eE
  

  

�) .�� � AB1
� ���*�`* ���/��� �� ���� q−  "�#� 5��
  

  $�� .�'(  %.
2

2

2
a

q
k    

  

  &. 
2

2

a

q
k  �. 

2

2

3
a

q
k  

C

N4
10



  

  %

   
��� 	�����  �
  ��  �  

   	����– )  ���� ����–
���   ��– �������   �!"� (  $
  $
  

  ���%

�  �  

�; . >�\ �� �@��	 Pa�� C
cm5 A	�1 10 ��
�� A	�� ��� A50 / �� �D�b��c	 ����	T40 / >\� �� 0=θ      �� 

>\�180=θ�	 3�*�+�   "�#� d�. ��  A<] Q
� /��� 5�U ��
 �41  
  

  $��. 050 /   %. 010 /  &. 51/  �.020 /  
  

�=.�e `�� �� ���� ��� q � � � 5��m  �]�# ��υ �4b �� � �4<]�� �	�b��c	 ����D�B	 � �41..�*� /[2�� ��� 3�e  

	��� �D
3� �/	 A+�� �b��c	 ����D�"�#� 5��
  )D	 9�@1��R(  

  $�� .
m

qBR
  %. 

m

qBR

2
  &. 2)(

m

qBR
  �.

m

RBq

2

222

  

  

�H. #�<�d4?� cm50�  � � 5��gr10 � AB1 f��?	 �#�� ��
g��� &�� CE�?@*�  h�
�� � 	�b��c	 ����D��,� �    

T40 /�� �0#��/�� �i�X 
�#� 3�1 ��W.J�W� ��  �� �L�
�� 5�U �� #���� �/j�+ �# k[
 ���
 �� �7/      3�*���L6* 

�#� 5��
")(
kg

N
g 10=  

  

  $��.A50 /�#�� E�b ��                        % .A1 �#�� E�b ��    
  

  &  .A50 /l  E�b ��                          � .A1l  E�b ��  
  

�I.��  �� #�� �#�� � � ���� ��4	/�(�, �� Pd�� 
��D	 ��/�  �L� �7i	 � ��hJ,* ���/�� d4b ���� �� ���7  
 C    

�� Q�4�* �  �#� 94* � "  

  $��.
d

i

π

µ

2

0  ��e��     %. 
d

i
2

0

2π

µ
 ��e��       &. 

d

i

π

µ

2

0 �@,��       � .
d

i
2

0

2π

µ
 �@,��  

  

�M .
# C�<��4P 9�@1 �� ���� cm2 �100 �� ��� 0*�#��� A	�� �0<
��� ����A1�#�  . 
# ���� C��@1 �� �9cm5       

#�<��� �� ��4 4O	 �
 �#� �0,�J ����7
�#� f2?�	 �7�� ��[.�� 
�� �� #�<��� ��4 N�	 s010 /�  � �4b
 �� �+�4�B

A50 / 	 k7�
� 
�� ��� c� N�	���� �
* �����/
�O	 P���� �
 ��  g#40	 �#� ���"),( 10104
27

0 =×= − ππµ  
  

  $��.3104
−×  %. 3108

−×  &. 4104
−×  �. 4108

−×  
  

mn .	�b��c	 ����D�c0	 ��TttB )( //
2

5020 −=� o?# �� �4<] �aP�� 
3� �/ A	�1 10� ����   ���D	 ��2
200 cm 

	� �1��.�� 
���� ���
��  ���a ��   �GO�st 2= ��	� ��  "�#�) ���	 �	���	Ω6�#� .(   
  

  $��. 60 /  %. 060 /  &. 360 /  �.63 /  
  

mp.��6  �.�*� /b��c	 �D���  �R,/# A+�� ��4�<P �� ���� n # ����� d4b ���� �� � �� A	��
 ��i �� �#������ :  
  

  $��. 
2

222
0 inµ

  %. 
2

22
0 inµ

  &. 
2

0niµ
  �.

2

2
0 niµ

  



  

  �

   
��� 	�����  �
  ��  �  

   	����– )  ���� ����–
���   ��– �������   �!"� (  $
  $
  

  ���%

�  �  
  

qr .�� � ���	
��, EF0+� � �� .�0�� �# �� N�1 �� ���	
�� �� �#� 5��
 ���	"  
  

  $�� .
6

π
  %. 

3

π
    

  

  &. 
4

π
  �. 

2

π
  

  
  

&000012" 34���50000�   

  

m .��*���
 �/ 9�@1 �� b���� /���  ��  �s� ����
r

A
=ρ�#� .	 ��0B�� ���
B� �� �� ��(�,rW
�	 ��   3�
)( br <   

��    ��� �#�� 3�1 3��� N�	4�@	 !D�
�.  

  

q .���q �4?� 
�� �+�4�B �� �#  �#
��
 �s� C/9�@1 �� �*�#��* R �4�
�#� 3�1 >.7� ��[* �D*�0� �
 ���� A       

�(�,P r��   W
�	 ��� b��*� �
 Rr <� �?��� �� �#� 
� 	 �#��� �
�.  

3
0

22

8

3

R

rRq
V

πε

)( −
=  

  

t.AB1 f��?	 , 
A��
 C �*�#� 9�@1 �
 �*�#� �� A	�1 ���� �4O	 �7/�+�� ��4� �a�  0#4�P� �*�#/� ���*����� /    

�+�� 9�@1� b � ���+�c�#� .��  �
�� �7�*�#� Q
�� �7/��D	 /�  	$��8i	 � ��hJ.��	� �4*�X �� 3��'0#� �� 	 � ���

b��c	�D���  ��  ��(�,r�� �L*� u�0[	 �4O	 ��  ���� �7/� 
� ��� �#��
�.  
  

  $��. ar <           

    %. bra <<                

   &. crb <<    
  

  

v.*�40#� �� P�*�#� /4O	 �7 ���+4� ��L]�@1 �� / ab,��  �G* 6���� �
 ��
�� �7/��D	 /�   �L� EF+i �� ��    

	 �42]� ��
..�*� /+e ��� 3� 	�b��c	 ����D��� R, �/� � d4b �� w4��	 �*�40#� �� Ql �
��� �#� �� �� �L*�.  

  

  

  


